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THE INSTITUTE OF BANKERS, BANGLADESH (IBB)
97" Banking Professional Examination, 2023
AIBB
Management Accounting (MA)

SubjectCode: | 2 | 0 | 9

Time—3 hours and 30 minutes
Full marks—100
Pass marks—45
[N.B. The figures in the right margin indicate full marks. Answer any five questions.] e
a
(a) “Management Accounting is helpful in increasing profitability in financial institutions”—Discuss with 5
example. ; i
(b) “Management Accounting is nothing more than the use of financial information for management 10
purposes”—Explain the statement and distinguish between Financial Accounting and Management
Accounting, A
(c) Discuss the functions of Management Accounting. 5
(a) Define the Break Even Point (BEP). What are the reasons of changing Break Even Point? 6
(b) How does an increase in the income tax rate affect the Break Even Point? Explain. 5
9

(¢) ABC Company sells 3 different products with same cost and selling price. The company is trying to find
out the profitability of opening another store which will have the following expenses and revenues :

Selling price per unit Tk. 300
Variable cost per unit Tk. 195
Sales commission per unit Tk. 15
Annual fixed expenses are :
Rent » Tk. 6,00,000
Salaries Tk. 20,00,000
Advertising cost Tk. 8,00,000
Other fixed expenses Tk. 2,00,000
Required :

(i) Calculate the annual Break Even Point (BEP) in units and in value. Also determine the profit or
loss it 30,000 units are sold. :

(ii) The sales commission is discontinued but instead a fixed amount of Tk. 9,00,000 is to be
incurred in fixed salaries. A reduction in selling price of 5% is also offered. What will be the
BEP in units?

(iii) 1t is proposed to pay the store manager Tk. 5 per units as further commission. The selling price is
also proposed to increase by 5%. What would be the BEP in units?

(a) “The information in a statement of cash flows can help investors, creditors and others to assess a 6
company'’s profile.”—Explain the statement.

(b) Here the comparative statements of financial position of ABC Company : 14

ABC Company
Comparative Statements of Financial Position
Assets December 2022 (Tk.) December 2021(Tk.)

Land 73,000 100,000
Equipment 260,000 200,000
Accumulated Depreciation (Equip) (66,000) (34,000)
Inventory 170,000 187,000
Accounts Receivable 85,000 71,000
Cash ) | 73,000 33,000
Total 595,000 "~ 557,000
Equity and Liabilities :
Share Capital-Ordinary (Tk. 1 per) 216,000 174,000
Retained Eaming 194,000 136,000
Bonds Payable 5 150,000 200,000
Accounts payable 35,000 47,000
Total 595,000 557,000

Additional information :
(1) Net income for 2022 was Tk. 103,000,
(2) Depreciation Expenses was Tk. 32,000.
(3) Cash dividend of Tk. 45,000 were declared and paid.
(4) Bonds payable amounting to Tk. 50,000 were redeemed for cash Tk. 50,000,
(5) Ordinary shares were issued for Tk. 42,000 cash.
(6) No equipment was sold during 2022.
(7) Land was sold for its book value of Tk. 27,000,
Required:
Prepare a statement of cash flows for the year 2022 using the indirect method.
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Explain the meaning of the following terms :
(i) Common size analysis.

(ii) Vertical analysis.

(iii) Horizontal analysis.

(iv) Percentage analysis,

The condensed financial statements of John Company for the year ended June 30, 2020 is presented below :
John Company
Statement of Financial Position (June 30, 2020)
Assets 2020 (in thousands) Tk.
Intangible and other assets 8767
Property, plant and equipment (net) 694-2
Investments 12:3
Current Asset— .
Prepaid expenses and other :
Current assets Tk. 2044
Inventory Tk. 768-3
Accounts receivable (net) Tk. 776-6
Cash Tk. 553-3 2,302-6
Total Assets : 3,885'8
Equity and Liabilities :
Share holders equity-ordinary 1,708:6
Non-current liabilities 679-5
Current liabilities 1,497-7
Total equity and liabilities . 3,885-8
John Company
Income Statements (June 30,2020)

2020 (in thousands) Tk.
Sales Revenue 6,336'3
Costs and expenses :
Cost of goods sold : 1,617-4
Selling and administrative 4,007-6
Interest expenses 13:9

5,638:9

Income before taxes . 6974
Income tax 2913
Net income 4061

mpute the following ratios for 2020 (7x2) :
Current ratio.
Inventory tumnover ratio (Inventory on 6/30/2019 was Tk. 653-5)
Profit margin ratio.
Return on Assets (Assets on 6/30/2019 was Tk. 3708:1)
Return on ordinary shareholder’s equity (Equity on 6/30/2019 was Tk. 1,749-0)
Debt to total assets, ratio.

(g) Times interest earned.
5. (a) What do you understand by working capital cycle?
(b) Describe the factors that affect the level of working capital requirement of a company.
(c) Following is the cost statement of ABC Company Ltd :
Raw Materials Tk. 50 Per Unit
Direct Labor Cost 20 ¥ .
Overhead Cost 40 i A
Total Cost 110 o o
Profit 30 - g
Selling Price 140 " "
You are also given the following additional information :
(i) Average raw material in stock One month
(i) Average raw materials in process Half a month
(iiij)  Stock of finished goods 30 days
(iv)  20% sales are cash sales e
W) Expected cash balance Tk. 100,000
(vi)  Credit allowed to debtors 2 month
(vii)  Credit allowed by creditor 45 days
(viii) Time lag in payment of wages 15 days
(ix)  Time lag in payment of overheads 1 month
(Note 360 days in a year)

You are required to prepare statemeat showing the working capital requirement if level of activity of the
company is 70,000 units. Assume 360 days in a year.
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6. (a) What is budget? Discuss some major benefits to be gained from budgeting.

(b) Discuss the use of time value of money in capital budgeting.
(¢) ABC Company Ltd. is faced with the problem of replacing a machine. Two machines are available in
the market. Both require initial outlay of Tk. 10,000 and have a life of 5 years. The company required

rate of return is 10% and pays tax @ 50%. Depreciation and investment allowances are as follows :
Depreciation: 1st year 80% of cost and 2nd year 20% of cost. '
Investment allowance : 1st year 20% of cost. Cash inflows are as follows (before tax) :

Machine-1
Machine-2

Year
3
4,000
2,000

1 2

4,000 4,000
6,000 3,000

sl
4,000
5,000

Determine :
(i) IRR of each machine.
(i) Net present value (NPV) of each machine.
(iii) Which machines should be purchased?

7. (a) What is the purpose of cost volume-profit (CVP) analysis? What is the Contribution Margin (CM)?

(b) Explain the assumptions of CVP analysis.

(c) A cellular phone company sells phones for Tk. 5,000. The unit variable cost per phone is Tk. 2,500
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plus a selling, commission of 10%. Fixed manufacturing cost total Tk. 65,000 per month, while fixed
selling and administrative costs total Tk. 1,50,000. :

Required :

(i)
(ii)

What is the contribution margin per phone?
What is the breakeven point in phones?

(iij) How many phones must be sold to earn a targeted profit of Tk. 3,75,000?

8. (a) How can we achieve control of business operations of a bank through budget and standard costing

techniques?
(b) The following information available for PQR company :

January (Tk.)
60,000

40%

50%

Budgeted sales

Gross profit as a percentage of sales
Closing trade payables as a percentage
of cost of sales

Opening inventory

Closing inventory

February (Tk.)
80,000

40%

50%

nil
nil

Note that all cost of sales are paid for on credit. How much money should be budgeted for supplier
payments in February?

(c) Z Company produces shirts. There has been a surge in shirt sales as a result of an advertising company

and so Z Company is paying its staff overtime to build up the inventory levels.

Labor hours per unit

Basic wage rate per hour

Overtime premium

Normal number of labor hours per month

3 hours
Tk. 20
25%

3,40,000 hours

Z Company expects sales of 1,00,000 units in September and wants to have closing inventory at the end of
September of 20,000 units. There will be no opening inventory on 1st September.

Calculate the budgeted labor cost.

9. (a) How many statements constitute a complete set of financial statements? Give a brief description of all

the statements. :
(b) Describe the limitations of ratio analysis.

(c) Capital Printers Ltd. had sales total Tk. 4,00,00,000 in the year 2020. Some ratios for the company are listed.

Use this information to determine the shilling values of various income statement and balance sheet.
Capital Printers for the year ended December 31, 2020 :

Sales Tk. 4,00,00,000
Gross profit margin 80%
Operating profit margin 35%
Net profit margin 8%
Return of Total Assets 16%
Return on Equity 20%
Total Asset turnover 2
Average collection period 62-2 days.

Calculate values for the following :

(i)  Gross profit

(ii)  Cost of goods sold
(iii) Operating profit
(iv) Total Assets

(v)  Total Equity.
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Write short notes on any five of the following :
(@) Margin of Safety

(b) Total Quality Management (TQM)

(¢) Operating Leverage

(d) Pay-back Period

(e) Marginal Cost

(N Liquidity ratio

(2) Mixed Cost

(h) Zero-based Budgeting.
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